{Private Varsity (NSU, East-West, BRAC IUB &gf®)-ateia ©f$ A== &8 helpful}

Swifur's
IBA

BBA

Admission Guide

Saifur Rahman Khan

B.Sc. Engg. (EEE, BUET); MBA, 1UJ, Japan.
Ex-lecturer, IBA, University of Dhaka.
Ex-faculty member, BIBM.

Md. Mujibur Rahman
Head of R & D Section
E-mail: saifurs.rnd@gmail.com

Md. Haseeb Kabir
MA (English), MA (ELT) BRAC Univ.
Content Developer & Writer

&

Md. Maniruzzaman Manir
Research Associate & Writer



B BBA Admission Test 1997-98 18

[ 30 Questions Section I: Mathematics 30 marks

Direction: Solve each of the following problems and mark the correct answer on

your answer sheet. DO NOT USE CALCULATIOR. Figures are not drawn to
scale.

1. The mid-point of a line joining (- 3, 5) to (-3, -1) is :
(A)1,-1 (B)-3,1 (C)-2,-1 (D)-3,2 (E)1,-4

- | ST | 6T R A0 co-ordinates T (x1, y1) B, 12) SO TR 20w

(x1+x2 y1+yzj _ 23+(3) S+
2 0 2 2 2

=(=3,2) . Answer = (D) |

2. A cake weighing 750 g has three ingredients: flour, sugar, and fruits. There is
twice as much flour as sugar and one and a half times as much sugar as fruits.
What is the quantity of sugar (in gram) in the cake?

(A) 100g (B) 250g (C) 125¢ (D) 50g (E) none of these

W I, quantity of sugar = s gms; .. quantity of flour (Frea-wmI) =
2s gms

3 . ) . 2s
S, AR 2Rl = 5 (quantity of fruits) = quantity of fruits = 3

2
s+2s+?s=750 = 35+ 65+ 25 =2250 = 115 =2250

2250

=>s5= BT 204.5m .. Answer = (E) |

3. Which of following information is alone sufficient to find out the value 4x* +
12xy + 9y2?
(A)x=4 B)y=9 (C)2x=3y (D)2x+3y=2 (E)none of these

4% + 12xy + 97 = (2x) +22x3y+(3y) =(2x +3y)

e.mm D-c2ts (2x + 3y) =2 1A
. Answer 2= (D) |
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Karim bought a ticket to a cricket match for Tk 25 and later sold the ticket to
Rahim for Tk.75. What was the percent increase in the price of the ticket?

(A)400% (B) 300% (C) 200% (D) 100% (E) 50%
4 increase 75 25 50
Percent increase = —— = =—x100=200%
original 25 25

- Answer ¥ (¢) |

In the expression of (x — y)*, the coefficient of y* is :
(A) 1 (B)3 (C) 3a (D) -3a* (E) none of these

(x—y) =x" = 3x*y+ 3x7 =y, y*-aq coefficient =T 3x.

. Answer = (E) |

In a concert, 100 tickets were sold in two unequal lots at two different rates. First
lot was sold at Tk.5 per ticket and the second lot was sold at Tk.3.50 per ticket. If

the total sales proceeds was Tk. 410, how many people got the cheaper tickets?
(A) 30 (B) 40 (C) 50 (D) 60 (E)75

A B, cheaper tickets (=T x &@; . 5(100 —x) + 3.5x =410
= 500-5x+35x=410 =2 1.5x=90 => x=60 .. Answer 2 (D)1

Find the value of K if (x + 1) is a factor of x° + Kx + 3x% -2
(A)35 (B) 4 (C)45 (D)5 (E) none of these

(x* + kx + 3x* — 2} (=g factor SR TS A, (x + 1) Factor zeaws
(x + 1)-49 ML AT G GFBT IR @ FACS Z(I ACS ST (A x° AN
T

- 8 fror ear e = a2 (x + 1) = 1 + 2%, B TS =0 (x + 1)-7 IR et e =09 2,

el e 2 2x(x+1) = 2x7 + 2x | Bx? + 2 oo (x° + x7)-«= ML QI 20 Wi, x° +

3x%+2x |

T NG MG A x° + 3x°+ hx — 2 =x" + x° + 2x7+ 2x —2x—2

=x*(x+ 1)+ 2x(x + 1) = 2(x + 1), =ie k47 value 0,

. Answer = (E) |
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Four children aged 11, 9, 7, and 4 share a sum of money in the ratio of ages. If
the youngest child receives Tk. 1,200, what is the sum of money?
(A) 9,600 (B) 9,300 (C) 9,000 (D) 8,600 (E) 8,400

T T© I3 ©6 O A |
. GG 3 O =, Ol A (@ Fe =11 +9+7+4=31;
e =, total = x .‘.%x4: 1200 = x =300 31 = 9300

.. Answer == (B) |

A company employs 15 men working 44 hours a week. If 4 men are ill, how
many hours a week would the rest have to work to make up the time lost?
(A) 60 (B) 55 (C) 50 (D) 48 (E) 45

15 S (16 F7& 36 = 15 x 44 = 660 hours;
660
S(15=4) =11 GTF I IS T = TS = 60 hours.

. Answer = (A) |

Three workers can do a job in 12 days. Two of the workers work twice as fast as
the third. How long would it take one of the faster workers to do the job himself?
(A)24 (B) 30 (C) 32 (D) 36 (E) none of these

T S, faster worker-a0d &TOIE TS T AT x T

..third worker &6 F4te At 2x e

- 1 1 1 .5
. foq &9 v afsie Fm— + —+ — 1= ot

x x 2x 2x

i o ed | Wi s | Waﬁwﬁ s 2—x =12=>x=30
2x 5 5
.. Answer == (B) |

If a typist can type 125 pages, 36 lines each, 11 words to each line in 5 days, how
many pages of 30 lines each and 12 works to each line can he type in 6 days?
(A) 145 (B) 155 (C) 160 (D) 165 (E) none of these

5 fwcey wca @ffo =11%es 11 word, @S page-4 36 line fAf*® 15 pages
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. 1 e s effs =1ge 11 word @fs page-a ., . ., ., 12?5 .

c 6 29 Ebl 29 Ebl ERl Ebl bRl 9 92 EEE S 25 X 6 23
: 50 x 11,

1
12 2 2 2 29 2 2 2 150 X 1 1 25
12

2 2 2 29 2 2 2 29 2 2 2

2 2 2 29

150 x 11 x 36

1 ERl 29 29 29 EEl 29 29 29

12

150x11x3
30 22 22 22 22 22 22 22 - = 165 pages
30

. Answer = (D) |

12. A man travels a distance at a rate of 20 miles/hour & returns at the rate of 30
miles/hour. What is his average speed?
(A)24 (B)25.5 (C)25 (D) 26 (E) none of these

X 5x X

X
N F, @7 x miles (71 .. total time= —+—=—="—";
20 30 60 12

total distance = 2x
2x
. Av. speed = T4
12
.. Answer = (A) |

13. During a cricket match, Akram scored a century in just 40 deliveries. The
number of boundaries he hit was twice that of over-boundaries. He couldn’t
score from 6 deliveries and he could take singles from rest of the deliveries. How
many boundaries did he score?

(A) 10 (B) 12 (©) 14 (D) 16 (E) none of these

. . X .
7 3, boundaries-«d 45T = x .. over boundaries-«@3 WL = 5

6x x 3x
codx + ?+ 40—6—x—5 x 1 =100:7x+34—? =100

=> —=66 ..x=12 .. Answer = (B) 1
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The price of sugar in the year 1995 increased by 10% from that of the previous
year. In 1996 the price decreased by 5%. In 1996, what was the increase in price
with respect to that of 19947

(A) 4% (B)4.5% (C) 5% (D)5.5%  (E) none of these

W 3, 1994-4 price = 100; 1995-4 price = 110;
- 1996-a price =110 - 5% of 110 =110-5.5=104.5;
.. increase = 104.5-100=4.5
increase 4.5

.. percentage increase = ——— = —x100% =4.5% .. Answer = (B) |
original 100

Due to booming business, a company increased its staff salary by 25%. By what
percent must it now decrease the salary to return to the original amount?
(A) 15 (B) 18 (©)20 (D)22.5 (E) none of these

W 4, original salary = 100 51975 .. @< #= salary = 125 517 5
.. original #fasee fez weTee 261 (125 — 100) = 25 B3l I3 =1 |

. percentage decrease = change _ 25 000, 500, .. Answer 21 (C) |
original 125

A man buys some pen & pencil. The pen costs Tk. 7 each & the pencil costs Tk.
3 each. If he spends exactly Tk. 81 and buys the maximum number of pen
possible under these conditions, find the ratio of pen to pencil.

(A)5:3 (B)4:3 (C)5:2 (D) 3:2 (E) none of these

81
GTPGT maximum Bl = 11-51 pen f&ce «z | 78, o7 I AF 81 — 7 x

11= 4 B0, @61 faed «F57 pencil @R “7e Fg TR IS (AT IR =G
exactly 81 BII® 436 31 TRCR | .. correct $€d &I G2 IRYF pen, QST
T 81 (AT IM MR 7 A6 3 ey ferey =7 1 @3 el s (Al A,
9-5T pen-@3 Wi 7 x 9 = 63-F 81

(AT W e At 81 — 63 = 18, @61 3 e ferey ? = 6-51 pencil;

open:pencil=9:6=3:2 . Answer = (D) |
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A certain triangle has sides that are respectively 6, §, and 10 inches long. A
rectangle equal in area to that of the triangle has a width of 3 inches. What is the
perimeter of the rectangle?

(A) 11 (B) 16 (C)22 (D) 24 (E) none of these

6:8:10=3:4:5 2eas triangle-51 <57 right (A triangle.
. area= % x 6 x 8 =24. .. length of rectangle = % = 8.

.. perimeter of rectangle = 2(8 + 3) =22 .. Answer = (C) |

A certain pole casts a shadow 24 ft. long. At the same time another pole which is
3 feet high casts a shadow 4 feet long. How high is the first pole, given that the
heights and shadows are in proportion?

(A) 18 (B) 19 (©)20 (D) 21 (E) none of these
W 4, first pole-aa height = x ft. .. % = % =>x=18
.. Answer = (A) |

Two train running on the same route travel at the rate of 25 and 30 miles per
hour. If the first train starts out an hour earlier, how long will it take the second
train to catch up with it?

(A)2 hrs (B) 3 hrs (C)4 hrs (D)5 hrs  (E) none of these

IO Ff, @— train-5T FET (ofts 2™ train-@3 x TBT #APIE |
~25(x+1)=30x =x=5hours; .. AnswerZ (D)

Triangle ADE is an equilateral triangle. If DC = AB + BE, and AC = 3 inches,

what is the value of AB?
C

A E B

(A) 1 B)1.5 (©)2 (D)2.5 (E) none of these
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DC=AB+BE = AB=DC-BE=(AC - AD)~ (AB - AE)= AC—AD -
AB+AE

— AB=3-AB (- AD=AE)=2AB=3; .. AB

% .. Answer = (B) |

In the figure below, triangle ABC & XYZ are equilateral triangles. YZ is parallel
to BC, BC=4, QC =1 & BP =2 unit. The perimeter of the triangle XPQ 1is:

(A)S5 (B) 4 (C)3 A
(D)2 (E) none of these /\ C

% V4

PQ=BC-BP-QC=4-2-1=4; ZYXZ =60 BC | YZ zems
ZXPQ=/PYZ=60° a3 ZXCP= /XZY =60° [+ THTIefT Swmef el
. AXPQ 936 R fage |

S AXPQ-93 perimeter = PQ + QX+ XP=1+ 1+ 1=3 .. Answer == (C) |

In the figure, BD =2DC and AD = DB. What is the value of AB?

A) y/ (BD*+DC?) (B) /3 BD
(C)3BC +DC (D) 2BC D
(E) none of these B

BD = 2DC zeams ABCD &35 30°- 60°- 90° fage, a1 /CBD = 30°;
ZBDC = 60° ¢ BC = +/3 DCp. ZBDA = 180° — 60° = 120°;
180° —120°
*ZDBA = /DAB = ———— =30°.
.. ZCBA = ZCBD + Z/DBA = 30° + 30° = 60°D
. ACB == @51 30° — 60° — 90° fage |
@4, AB* =BC? + AC*=BC? + (CD + AD)* =BC? + CD* + AD* + 2.CD. AD
=BD’+ BD?+ BD. BD=3.BD?.. AB=3BD . Answer =T (B) |
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In the figure CD = 2AB and AB is parallel to CD. If the area of ABE is 3, what is

the area of CED? A B
(A)2 (B)6 ©9
(D) 12 (E) none of these
. D C
BRGT W= T, @I GF 20T AB @3k CD-4a7 Bof o7
s
E
93, AAEF ¢ AEGC-a3 wtwr LAFE = ZEGC =90°; ZFAE = ZGCE = 93r&d
EG EC EC
T | EF  EF EA @)
TSI (AT AT, AABE € AECD 1 |
CD EC . CD
Som— = — L (1) SRE, @R e, — =2, (1)
AB EA AB

EG EG
s (1), (1) 8 (1) tF, — 2 = —=EF;
(). (i) (i) o, —=2 = =

T, T=eER (@[ AR, A AEB-9 EF =T EC (2t Sl AB-47 &9 Wil Tl @R
w7+, EG 25T ADCE-¢ 3% DC-4% T T |

QW,WW,%XABXEF=3:>EFXAB=6
1 EG
QW,ACED—G@area=E xEGxCD=T x2AB=2xEF xAB=2x6=12
.. Answer = (D) |

In the figure, AB 1s parallel to CD. Zx 1s 130° and £y 1s 150°. What is the value

f£z?
0 z . \x(/

(A) 60 (B) 90 (C) 100 .

(B) (D) 110 (E) none of these
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o dr

Q
ZPQO = 180° —»° =180° - 150° = 30°; LOPQ = ZORS [ «F&];
K, ZORS = 180° — x° =180° — 130° = 50°
9@, Lz + Z0QP + ZORS = 180° = £z =180° —30° — 50° = 100°
.. Answer = (C) |

25. Inthe figure, what is the sum of the nine angles labeled with letters?

(A) 720° (B) 840° (C) 900°
(D) 990° (E) indeterminate

o di

e
atb+x+c=360°%d+f+g+y=360°;z+h+i+e=360°
Latbtctd+re+frtgth+i)y+(x+y+z)=360°x3=1080°
S(a+rbt+c+rdre+f+g+h+i)=1080°—(x+y+z)=1080°— 180°=900°
.. Answer = (C) |

26. In figure, point A is the center of the larger circle. Find ratio of the area of the
large to the area of the small circle?

(A) 4 (B) 3.25 (C)3
(D) 2.25 (E) 5
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The minimum qualifying point is five for all applicants (F%%C% 5 Points #%t3). The
point determination is laid out in the table below:

SSC GPA/Div | HSC GPA/Div | O-Level GPA* | A-Level GPA* | Qualifying Points
>=4.5/1" >=4.0/1st >=3.0 >=2.5 3
>=3.52™ >=3.0/2nd >=25 >=2.0 2

* Letter grades of O - Level and A - Level subjects are converted to grade
points (A =4, B=3, C =2, D =1). Grade Point Average (GPA) is calculated
by averaging the grade points of the five best grades for O-level and the two
best grades for A-Level.

For all other certificates, equivalence will be determined by the Equivalence
Committee of IBA.
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